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CHAPTER : 1 pakcityorg

e
1. 62329( 1s equal to:
a. Sinx b. cosx
¢. sinhx d. coshx
. 1-cos 9
2 lim ? equals to:
0 5 () 1+cosql
a. 0 b. 2
p* 32
3. x=3 cost, y=3 sinf represent:
a. line b. circle
c. parabola d. hyperbola
P
-+ lim 2232 i equal to: WS
) x—0 Sin 2x 9 ' OC{\“\ %

@)
AP WIN
>)
@“\
{.'L
S N N

> C DJ
/"‘Q
N\ ¢ )Y

5 If (x) = x* — X then f(—2) is &qual to:

a. 2 RO b. 6

c. 0 NN d. -6

6 Ifllmf(xgz_l—lna,a>0

X—00

a. a * b. a*

c. e* d. e”*
. p
7. lim (1 + E)x equals:
X — 00

a. e b. e
c. e’ d. Ve
8. L o™ equals:

dx
a. el'™ b. /™ f'(x)
f'(x) ef ()

o loTes
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11.

L

12,
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lim equals:
X—2 X—
40 b. 60
80 d. 120
lim Sin7 9 1s equal to:
6—-0
1 b. 7
7
1 d. 2
7
If f(x) = x?, then domain of f is:
Real number b. Integer
Rational number d. Irrational
2sinhx=
e —e™ b. ef+e™ <
ex—e * 4 = + e~ %) ?\
AL Q
< i"\%}i}/
. 2 o,
li sin 6: 1 \*’_Cp
00 A - O’{ d. 2
WY
X =at%, y=2at areﬁt\h;ei@a‘{ametric equations of:
Ellipse NN b. Circle
Parabola d. Hyperbola
. Sn+ly, .
Aan}o( 51 ) -
e 1/5 b e 5
e S d el
Let f(x) = x*+ cos X, then f(X) is:
Odd function b. Constant function
Even function d. Neither even nor odd function

If at least one vertical line meets the curve at more than two points, then curve 1is:

A function b. Not a function
One-to-one function d. Onto function
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CHAPTER : 2
2
1. d|x —4 equals to:
dx\ x-2
a. 0 b. 1
C. X+2 d. x-2
d .
2. —(tan x) is equals to:
dx
In cosx b. —Insinx - '
c. —sec?x d. sec’x a@ﬁpakcny.org%o
3. The differential co-efficient of eS"* equals:
a. e’ . cosx b. e*™.sinx
c. eS™ 1 cosx d. es™ 1 sinx
O
@S
— Ta(cd ay . O
4. If y = In(sinx),then - equals: ) N\ S
a. tanx
c. —tanx

In? ~
AN
c. 2%.In2 A
6 cosh! x =

7. If f(x) = x*°then f'(8)=":

W =N |-

d

S. — (cos X) =:
dx( )

a. COS X

c. —SIin x

&

ol o

In(x+ /x2 — 1)
1 X1
;in (35)

LY W | N

Sec?x
Sec? x
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15.

o

16.

17.

If4y+3x+7:0thenz—i’is:

Ifyzlnxthend—y::
) dx

X
X

If y = sin 3x then y; =
3cos 3x
-9sin 3x

If y=x’ thendy =:
x>dx

x4'
—dx
4

fim f(x+ 6x) = f(x)
O x-0 o X

£ (0) A
’ N Q
9 o

1s equal to:

A)
d : AN
— x™ is equal to: f-f\\f\\Bw
dx giyy
xn-l—l

n

If {(x) = cos x then f'(0) 1s equal to:

—_—

d . s .
—sinh ! x is equal to:

1

1—x2
1

V1+x?

If f(x) = e** then f'(x) is equal to:

Please visit for more data at: www.pakcity.org

3
b. 2—2
d. 3
b. x1!
d. -2x
b. 9cos 3x
d. 9sin 3x
b. 3x*dx <§A
d. xdx &2
| (Q&’ -
Ane\O
0«@3}?},
b. f (a)
d. f(0)
b. %
d nxn+1
b. —1
1
d. =
=
b. ,_1_1x2
T oV14x2
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19.

T

23,

eax eax
e b —&_
a a
ael” d —-ae?
d .
— [Inx] 1is equal to:
dx
X b. 1
X
X? d. —
x2
Derivative of sin h™! x w.r.t x equals:
1 b =
1— x2 T V11— x2
1 4 =1
V1 + x? - V1i+x?
a COS X Is:
— (e€95%) equals:
—sin x e*%** b. sin x e">
sin x /“@\Sl%x
cosxe d. —cosxe>>*
(O
Q ‘5\"?‘/\\}\0
If f(x + h) = cos (x+h), then f(x) equals;,,;@\_) &
COS X 'Z\i\%. —COS X
sin X ~ @5 d. —sinx
A Q‘g
\’““@O :
31 AN
If y=sec (7 — x), t@r equals:
s
cosec x cot X \\\”}\}v\, b. -cosec x cot x
sec X tan X d. -sec X tan X
d -1
— tan h™ " x equals:
dx ;
1
b.
1+ x?2 X2~ 1
1 1
d.
1— x2 x2—1
The expression In (x+ Vx? + 1) equals:
sinh 1x b. cosh™lx
tanh™ 1 x d. cosech™1x
The differential co-efficient of e ™ * is:
e X, cosx b. e®*.sin X
e “S% cos X d. sinx. e®nxl
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26.

27,

£

28.

If f(x) = 2%, then " (x) =
D Bl b. 2*¥In 2
2% In 2
— d. e
If °(c) = 0, then f (x) has relative maxima at x = ¢, if;
P(c)<0 b. f)(¢c)=0
f(c)>0 d f(¢c)=0
If y = In (sin x), then 3—3; equals:
tan X b. cot x
—tan X d. —cotx
a XN e
@ (a*) is: x
“_;‘ b, 22—
a Ina
a* d. a*lna ,4\
QA2
Ifv=—. th &y tx =-11s: <(/Q ’
y == then—= atx =-11is: oﬁf\\é}\
: @ X
1 S-d. 4
3 ”“%/
) i
05@" S )
fix) = f{0) + £(0) x + \f ’%‘i\ o S L n(IO) S R —— is called
A !
Taylor series ﬂ \\’\\\E\/ b. Binomial series
Laurent series d. Maclaurin series
1+1x2 1s der1vative of:
Sin ! x b. Sec !x
tan ! x d. cot'x
d .
= (sec x) is:
sec? X b. -sec X x tanx
sec X x tan x d. sec x cot x
L cot? 2x =:
dx
4 cot 2x cosec 2xX b. -4 cot 2x cosec? 2x
4 cot® 2x cosec 2X d. -4 cot 2x
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3S.

ji_ex+h
dx
ex+h

Inh
ex+h

If f(x) = cos x then f (g) = :

N |

w ==
2(x>+ 1)

2x (x> + 1)

ot
Nt
o \

If f(x) = cos h x then f(x)* — f@@ef
A AN
~\\ O

e

N[ = O

& (nx)™ )k

k
— (Inx)™k1
1

Jgnk

a B TN
d.:'c(\/EE Jf) '
[

2Xx

0

: d
Ify:cosx,u:smxthenﬁ::

COS X
—tan X
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e

ex+h
b. In x
d. heXth
b. 0
d. -1
b. 1+i
2x
d. l-x—2
b (9524{1%&’
AN\ Y
K @ (x*+1)

xm
mk

—cot x

—COSECC X

— (Inx)*1
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43. ao + a1 + ax2xp +--—--—- + apX" + -------- 1S:
a. Maclaurin’s series b. Taylor series
c. Power series d. Binomial series
44. < sinlx-=
dx
- b. costx
1+ x?
C. = d. —
1— x2 1—x
d’y dy
45.  The order of the differential equation — E " g T 2x =018
a. 2 b. 1
c. O d. 3
46. cosh’x—sinh*x=:
a. 1 b -1 o, \
c. 0 d 2 ((\&
ol
ke {\\\
47. If f(x) has second derivative at “c” %:\]i\@%t T;(c) = ( and f''(¢) < 0 then
of:
a. Maxima \(/ b. Minima
c. Zero point K¢ O\{ d. Point of inflection
48.  Ify=1— x2,0<x <1 then = =
a. Vx2—1 b. 21
xZ—1
X —X
C. = d. o
i dy
49. Ify=e™"*, then—=:
. dx .
a. e®* b. e*"*cos x
c. e’'X 4 cosx d. -e”™*cosx
50. “coshx=:
dx
a. —sin hx b. sec hx
c. —sec hx d. sin hx
51.  Solution of £ = =X js:

dx
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=

&

S2.

33.

L8 B B B8 &8 § § & §B &8 &8 § &8 &8 &8 &8 § &8 &8 &8 § &8 & §8 &8 &8 § &8 B &8 § § § §B 8 B N |
i

— C

<R IR

=CX

If x=1(08),y = g (0),then Z—i :

dy do
de dx
dé dx
dy a0

i10 X =
7. 0Ba

Ina

o Rk ot B

d
—sec hx =:
dx

sec hx tan h x
tan h? x
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<

b. =
X
d. xy=c
dx dé
b. ——
ae dy
dy dx
d. do deé
b. xlnx-Xx
1
d.
xlna
b. -sec hx o X
d. sec (}‘(%&v
/ G\H/
A N\
N
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CHAPTER : 3 0% pakciW-OfQ%w

1. [——dx

x.Inx

a. In(Inx)+c
C. hl(%)“l‘c

2. Anti-derivative of cotx 1s equals to
a. In cosx +c¢
c. -Incosx+c

3
3. dx equals:
fO xX?%+9 9
12
q =
T
12
G ——
T
4. Solution of y.dx+ x.dx =0 1s equal to:

a. X.y =constant

C. X+Yy = constant

O\C/

5. [(2x + 3)”2 dx is equal to: 2

a. zl(Zx + 3) 2 +c &Qx

1
c. ~(2x+3)7 +c N

6. f e ( + lnx) dx equals:
a. e *Inx +c

1
c. e*. —+c
X

7. Fornn = —1, [(f(x))" f'(x)dx =:

rHx
a.f()+c
n
X n+1
C. ACI) + C
n+1
tan—1
e X
8. dx :
f 1+x2
5. e e
-1
c. et "X Lo

Please visit for more data at: www.pakcity.org

G

b. Inx+c
d. In(ln-)+c
b. In sinx +c
d. -Iln sinx+c
V[
b. =
_r
12 ;
.
ﬂq&gi>
,(\ & )
&
K@L constant
X-y = constant
2 Ll
b. §(2x+ 3)2 +C
1 3
d. 3—(2x+ 3) 2 4C
b. e™* = —I— C
d. e* lnx +C
5 (F)™
| n=1
d. (f(x)™?! +c
b. et 4 ¢
d. etan 'x L ¢
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17.

2

f -1

NxZ=1
tan ™ 'x + ¢
sec”lx + ¢

[ secx dx =:
In |secx + tan x| + ¢
In [secx —tanx]| + ¢

0
8

The 1ntegration 1s the reverse process of:
Induction
Tabulation

[ sin x dx is equal to:

COS X
—sIn X

J' fr (X)
f(x)
In x

In f'(x)

[ secx tanx dx is equal to:

tan x
tan® x

1 .
J, x* dx is equal to:

= S

Solution of differential equation,

ce”
eX

dx =:

fnnsinx dx =:

dx is equal to:
! RO

N
d.

N

v _ .
d Y s

b. coseclx+ c
d. sin~x+ c
b. In|cosecx — cotx|+ ¢
d. -In|cosecx + cotx| + ¢
b. 6
d. 16
b. Differentiation
d Suﬁlﬂg}ﬁﬂ
RO
A
0@3}1},\
sin X
—COS X
b. In f(x)
d. f(x)
b. sec?x
d. secx
b. 4
4 =
b. ce™
d. e*
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18. [ sinx dx is equal to:

a. Cos X b. —cos x
C. sinXx d. —sinXx
1 "
19. | — 5 dx 1s equal to:
a. tan'x b. tan ! x*
c. cotlx d. cot ! x’
20. f; x dx equals:
—a b+a
a. — b 2t
2 2
C. L L
2 2
1
2. —— dx equals:
. 1 1 ] A~
a. In (Inx) b ”I;lx _l?@/\
c. xlnx d & 0%
x. (O
o£5)
4 . e,
22. [ ¥/x dxis equal to: (D
a1 N5 b, 4
c. 14 T 4 41
S\ O\S
K\
| ~
23. [ e* (—sinx + 2:¢0sx) dx equals:
e?* sin x b. e** cosx
c. —e**sinx d. —e** cosx
T/, sec*x '
24. J”0 1+tan x dx:
a. 1 b. 2
c. In2 d. Inv?2
25.  [(2x+ 3)"/2 dx equals:
a. -~ (2x + 3)/2dx b. Z(2x + 3)72 +¢
c. z(2x + 3)/2 + ¢ d. %(ZX +3)2 +c
26.  The solution of differential equation z—i’ = sec” x is:
a. y=COoSX+C b. y=secx+c¢
C. y=cos*X+¢ d. y=tanx+c¢

Please visit for more data at: www.pakcity.org
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27.  Anti-derivative of cot x, equals:

a. In(cosXx)+c b. In (sin x) + ¢
C. —cosec’X +c d. In(secx)+c
28. f_nn sin x dx is equal to:
a. 0 b. 6
c. 8 d. 16
29. [sin3xdxis:
" Ccos 3x tc b. _c0533x Iy
c. 3cos3x+c d. —3cos3x+c
3 .
30. [ x3dxis:
a. 20 b. 40
p
c. 30 d. 60 ‘Q@f\
(\ ;
31. [tanx dxis: 0\,&\\
a. Insecx+c %“hcosechrc
c. Insmx+c d Incot X+ ¢
f‘”i\
,@g‘@“
32. f:f(x)dx is: v\/\‘* -
N
a. — ff f(x)dx | /\\@;Q\;w b. — fba f(x)dx
i ~)
c. [fdx d. [ f(x)dx
33. [—dx=:
X+2
a. In(x+2) +c¢ b. x+2In(x+2) +c¢
Cc. Xx-2In(x+2) +c¢ d x-In(x+2) +c
4. [e*(nx+ )dx=:
x 1 e
a. e.x+c b. lnx+c
o d. elnx+c
Ina
1 1
35 fo — dx =
a. 0 b. =
" i
C. 4 d. ;
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36. [secxdx=:

a. secxtanx + ¢
c. In(sec x—tanx+c

37. [tanxdx=:

a. Incotx+¢c¢
c. Insimnx+c

38, [er |

1+ x2
a. e*tanx+c¢

+ tan“lx] dx =:

c. efsinx+c¢

39. fon/z sin® x cos x dx =:

1
a. -
2
1
c. —
4
; dy ;
40.  The solution of = YIS
a. y=e’x Yy
g y=#¢ ﬂ,a@k/
,A\\go Y
AN
41. — X () ke =3 N&
fx) AR
a. Inx+c A%
1
c. —+¢C
f(x)
42. [3*dx =:
a. 3*+c
3x
C. — + C

44. [ sec? x dx:
a. tanx

c. tan?

Please visit for more data at: www.pakcity.org

b. sec’xtanx + ¢
d. In (sec x+tanx+c
b. Incosx+c¢
d. Insecx+c¢
b. exz +C
1+ x
d. eftan 'x+c¢
2
b. 3
NN
. y=ce™
d. ce*
b. In[f(x)+ c]
d. Inl|f(x)]+c
b. 3*+In3 +c
d. 3ln 3* +c¢
b. 1
d. 3
sec3 x
b. ;
d. sec xtan x

www.pakcity.org
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45.

a.
C

46.

Domain of f(x) = x* + 1:

R
R—{-1)

| sin x cos x dx:

1
Ecost

sin? x

R - {1}
[1, o]

g

1
b.'—ECOSZX

cos? x
2

b. tan 1x
d. cosec lx

____________________________________________________ 1S
S
(@
A~
4@53\/

Please visit for more data at: www.pakcity.org
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CHAPTER : 4
1. Slope of line perpendicular to line 2x-3y+1=0 1s equal to:
3 3
d. 2 b. — =
c. = d =2
3 3

www.pakcity.org

Z: X- coordinate of centroid of triangle ABC with A (-2,3) ; B (-4,1); C (3,5) equals to:

a. -1 b. 1
c. 3 d. -3
3. For any point (x,y) on x-axis:
a. y=90 b. y=-1
c. y=1 d y=2
4. The point of concurrency of medians of triangle 1s calle(K
a. In-centre b. Centr pﬂJ
c. Circumcentre d. Orthod ter
X {\“\
D The point of intersection of medlang\(f)f ( \jj{éngle 1s called:
a. In-centre ~ Viﬂv b. Centroid
c. Circumcentre Qg d. Orthocenter
O\ OV
R\
6. The distance of po@;\Pﬁ(’l 6) from the line 6Xx — 4y + 9 =0 1s:
a. 49 QA N
52
49 E ek
C. — * V52
T Slope intercept form of line equals:
a. y—yr=m(x-Xi) b. € =
a
c. xcosB@+ysinf =p d. y=mx+c

8. Point of interception of lines x -2y + 1 =0 and 2x—y+2 =0

a. (1,0) b. (0, 1)
c. (-1,0) d. (0,-1)

9. Distance between (1,2) and (2,1) 1s:
1

a.
c. V2

o
S

o% pakcity.org%n
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10.

www.pakcity.org

The line y = mx + c, will be tangent to the parabola y* = 4ax if:
c = -am’ b. c= 2%
m
C:a(1+m2) d. C:E
a
Equation of the line parallel to x + 3y — 9 =0:
3x =y -9 =0 b. 3x+ 9y +7 =0
2x —6y —18 =0 d. x-3y+9=0
ax + by + ¢ = 0, will represent equation of straight line parallel to y-axis if:
a=0 b. b=0
c=0 d. d= 0, ¢=0
If a straight line 1s parallel to y-axis, then its slope is:
-1 b. O
1 d. Undefin
2
(\
A linear equation in two variables represents.f \g
Circle } 1pse
Hyperbola Straight line
The centroid of the trlangle S@xse vertices are (3, -5), (-7, 4) and (10, -2) 1s:
( 2,-2) b. (-2,2)
\\3
Two lines represented by ax” + 2hxy + by” = 0 are parallel if:
h*—ab=0 b. h>+ab=0
a+b=0 d. a-b=0
If m; and my are slopes of two lines then lines are perpendicular if:
m; m2-( b. mimz,1-0
m; mz2- 1-0 d mi+m=0
The distance between the points (0, 0) and (1, 2) 1s:
0 b. 2
V3 d. V5
Two non-parallel lines intersect each other:
1 point b. 0 point
co points d. 2 points

Please visit for more data at: www.pakcity.org
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20.

The equation of horizontal line through (a,b) 1s:
y=a b. y=b
X=a d. x=Db

The two lines ai1x + b1y = ¢; a2X + by = ¢2 are parallel if:
ai-a2 =0 b. ai—bi =0
aiby - azb, =0 d. aib2—azb1 =0

The inclination of X =y 1s:
30° b. 60°
45° d. 180°

If the line (3x —y + 5) + k (2x -3y - 4) = 0 1s parallel to y- axis, then k=:

_2 b —2
3 4
2 d. O
5 ,.
RO
If a is the inclination of the line [, then = —== = 7 (say) is called:
CoS @ ( }giﬁa
Point slope form } ﬁ rmal form
Symmetric form ALY S Intercept form
AN
/‘\C/‘/
The centroid of a trlangle d 1@\33/ each median 1n ratio:
2:1 s :1/ b. 1:2
AN
2:3 . \f\ﬁy 8 TN
The perpendicular distance of line 3x + 4y — 10 = 0 from the origin is:
b. 1
2 d. 2

2

2
The straight line y = mx +c 1s tangent to the eclipse z—z + % = 11f:
¢’ =a’m* - b’ b. ¢c*=b*’m’+a’
¢’ =b* m” - a’ d. ¢*=a’m’+b?

If a 1s the inclination of a line ““/”, then 1t must be true that:

O£a<§ b. 25a<n

0<a<mr d 0 a < 2=n

Please visit for more data at: www.pakcity.org
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29. Horizontal line through (7, -9) 1s:
g X=1 b. x=-9
c. y=17 d. y=-9

30. Equation of line bisecting Il and IV quadrant:

a. y= b. y=-x
y = l d x+y=1
X

31.  Joint equations of two lines is ax’ + 2hxy + by* = 0, if 8 is angle between them, then

tan 0 =:
" 2vVh? +ab b 2Vh% —ab
a+b ) a+b
Vh2 +ab d vh2 —ab
¢ a+b ' a+b

32. Set of all points equidistant from a fixed point form: \

a. Ellipse b. Parabc&
c. Hyperbola d. Clrc@
R {\\\
33. Distance of (x1, y1) from line ax + b \(+ \ﬁ
g axq byq+c b. ax1 by,—c
Ny N VaZ+ b?

c. axq, by,+c $e { d axq, by;—c

va+b &Q va+b
AQ\J

Please visit for more data at: www.pakcity.org
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CHAPTER : 5
1. Point (1,2) lies 1n the region of inequality:
a. 2x+y>5 : _ 4 b. 2x+y =5
c. 2x+y <3 c% pakcity.org %: d. 2x+y<3
2. X = 4 1s the solution of inequality:
a. x+3>0 b. x—-3<0
c. 2x+3>0 d x+3<0
3. (1, 0) 1s the solution of inequality:
a. 7x+2y<8 b. x-3y<0
c. 3x+5y<6 d. -3x+35y>2
4. A function which is to be maximized or minimized 1s called
a. Exponential function b. Linear funct
c. Quadratic function d. ObJecti(v@ nctlon
~ \</
3 Solution set of inequality 2x < 3 1s: X3 S >
3 ﬁ%
a. (oo, = ” ( = oo)
c. (o0, ) D> (=2 2
O\U d § )
6. A function which is to be (ﬂa\x’ {zed or mmlmlzed 1s called:
a. Subjective function «ﬁ N b. Quantitative function
c. Objective functlon \f{\y d. Qualitative function
S35
7. (1,0) 1s solution of inequality:
a. 9x+2y<38 b. -x+3y<0
c. 3x+35y<6 d. 3x+35y>4
8. ax+b<cis:
a. Linear inequality b. Identity
c. Equation d. Not inequality
9. The feasible solution which maximizes or minimizes the objective function is called:
a. Exact solution b. Optimal solution
c. Final solution d. Objective solution
10.  System of linear inequalities involved in the problem is called:
a. Coefficients b. Solution
¢. Problem constraints d. Boundaries
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CHAPTER : 6
1. The center of circle (x+3)* + (y-2)*= 16 equals:
a. (-3,2) b. (3,-2)
c. (3,2) d. (-3,-2)
2. The eccentricity of yTz — x? = 1 equals:
Ll b — =2
5 " A5
C. % d. — %
3. The radius of circle x> + y* + 2gx +2fy +¢ = 0 is:
a. /g% + 2 b. g2 —f2+c
c. Jg+[fi+c d. /g% +f%>—-c
A\
4. The vertex of parabola (x-1)>= 8(y+2) is: ng\
a. (1,-2) b. (0, %@
c. (-1,-2 o
1,-2) &S
T
S The set of all points 1n the plane tga“&afr\é equally distant from a fixed point 1s called:
a. Ellipse q o\ b. Parabola
c. Hyperbola @SO S d. Circle
Q\;v
6. The parabola of fdgs/y passes through a point:
& 23
a. i, i <y
1 -1
& (E'Z) (E’ 7)
7. Equation of axis of a parabola x* = 4ay is:
a. x=0 b. x=a
¢. y=0 d. y=a
8. Length of tangent from (0,1) to x> + y* + 6x — 3y + 3 = 0 is called:
a. 2 b. 3
c. 4 d. 1
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Length of latus rectum of ellipse f—6 + y? =1 1s:
9 9
kd b, 2
2 4
=0 d =
9 16
Centre of the circle (x — 1)* + (y +3)? =3 is:
(-1,-3) b. (-1,3)
(1,3) d. (1,-3)
The eccentricity e of the hyperbola is:
e=0 b. exl
e>1 d e=1
X = a sec 6, y=Db tan 6 represents the parametric equations of:
Circle b. Parabola
Ellipse d. Hyperb@g)}\

../

Length of each latus rectum of an ellipse 1 1876

2a* ﬂ"-'
b &Q

2b?

a O\(/‘/

If the ends of the dla\%%‘t&(/)f the circle are (0,1) and (2,3), then its area 1is:
T Ry b. 2m
41 d. 8m
The directrix of the parabola x* = -8y is:
x+2=0 b. x-2=0
y+2=0 d. y-2=0
The equation x* + y* + 2gx + 2fy + ¢ = 0 represents a circle with centre:
(-g9 'f) b. (+g9 'D
1, 2) d. (0,0)
Axis of the parabola x* = 4ay is:
y=0 b. x=0
X=Yy d x=1
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18.  For ellipse z—z + 2’—2 =1, (a > b), then eccentricity e = :
va*- b b Vas+ b
a. :
a a
C Vb%— a? d 1/b2_ a’
a ' b

19.  Focal chord perpendicular to axis parabola is called:

a. Latus Rectum b. Eccentricity
c. Vertex d. Axis
Py
e\
XN
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CHAPTER : 7
1. Work done by constant force F during displacement d 1s equal to:
a. Fd b. Fxd

c. rxF a@{pakcity.orggo d Fxr

2. 21. (21 x k) equals:

a. 0 b. 2
c. 4 d 6
3. Magnitude of vector 21 + 3] + 4k is:
a. 29 b. /29
c. 28 d. /28
4 I X 1=
a. 1 b. 2 /‘\
c. 0 d. -1 (\& -
O . K \
3. A vector with magnitude 1 1s called:
a. Null vector Unlt vector
c. Zero vector A d Constant vector
O\C/
0o
6. J. (k x 1) is equal to: ﬁ/
a. O b. -1
\/\\
c. 1 d 2
7. Moment of Force vector F about (1) 1s:
a. rxF b. Fxr
c. r.F d F.r
8. 21. (21 x k) equals:
a. 4 b. 3
c. 2 d. 1
9. (T x k) x ] equals:
a. -1 b. 0
c. 1 d. oo

10. If a, B,y be the direction angles of a vector then cos” & + cos*f + cos’y equals:
a. -1 b. 0
c. 1 d. 2
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o

20.

vl

The angle between the vectors 2T + 3] + k and 2T — J — k is:
90° b. 45°
60° d. 30°

jx k is equal to :
—1 b. i
0 d. 1

An angle 1n a semi-circle 1s:
Right angle b. Obtuse angle
Reflective angle d. 0°

2i.jx2k=:
0 b. 2
1 d. 4

If vectors 2i + j + k and  — 4] + ak are perpendlculai\@él a =:
1 b. 2 </
3 d-54

/ﬁ?@\%} </
(&

[aba]is equal to: Vi‘g\’
1 6\(/ b. a
0 \$9 3 d. b

)
~OS

The direction cos@}é} of y- axis are:
0, 1, 0) b. (1,0, 0)
(0,0, 1) d. (0,0,0)

Length of the vector 21— ] -2k 1is:
2 b. 4
3 d. 5

Projection of vector —on vector > 1S:
@ >
uUX v uXv

vl d. ul

If ¥ is any vector, then vector of magnitude 5 opposite to v is :
5v b. —5v
5— d. -5—

vl
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